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RIER D FRIRREEE

HA3—2 BEMICEAIILEESNSHEICEHTOIEE (1/1) _ _ | REEE TR16ERE
2MERONMNE | BES 129A0521 &% | ®iE(2)-3 | i EPAGHER KHEET RIE=TH
. SEMMOTIHICHEST ST SERHA
ﬁ%&g TREOBHOEILADKRES TREDOHBSILNDKRES TREOBBOEILADKRES TREDHBESSLNDKRES
= = AV = HVE Tl = = T HVE = W HVE ==
1 100kN/mM#%#BZ % 1.00({0.00 ~ 0.19 102.81|3m%E 25 = ~ - = —| 100kN/mM%#B 2% 1.00{ 11.02 ~ 11.61 102.81|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{0.19 ~ 7098 100.00| Z#hdst |0.00 ~ 7.98] 2.05 10.34 ZnLst 1.00f 500 ~ 11.02 100.00] #hkist | 5.00 ~ 11.61| 2.05 10.34
9 100kN/mM#%#BZ % 1.00({0.00 ~ 1.69 125.86|3m%E{E x5 = ~ - = —| 100kN/mM%#B 2% 1.00| 10.74 ~ 17.41 125.86|3m%EEZ 5 =l ~ - - -
Zzh st 1.00({1.69 ~ 947 100.00| Zhlist |0.00 ~ 947| 2.27 11.48 ZnLst 1.00f 500 ~ 10.74 100.00] #hist | 5.00 ~ 17.41| 2.27 11.48
3 100kN/mM#%#BZ % 1.00({0.00 ~ 220 134.21|3m%EB 25 = ~ - = —| 100kN/mM%#8 2% 1.00 10.56 ~ 19.67 134.21|3m%EEZ 5 =l ~ - - -
Zzh st 1.00{2.20 ~ 9.99 100.00] Z#hkist [ 000 ~ 999 234 11.81 ZznLst 1.00f 500 ~ 10.56 100.00] #hkist | 5.00 ~ 19.67| 2.34 11.81
4 100kN/mM#%#BZ % 1.00({0.00 ~ 2.11 132.67|3m%E{E 25 = ~ - = —| 100kN/mM%#8 2% 1.00 10.54 ~ 18.87 132.67|3m%EEZ 5D =l ~ - - -
Zzh st 1.00{2.11 ~ 989 100.00| #h A4t |0.00 ~ 9.89] 2.35 11.89 ZnLst 1.00f 500 ~ 10.54 100.00] #hkist | 5.00 ~ 18.87| 2.35 11.89
5 100kN/mM#%#BZ % 1.00(0.00 ~ 048 107.11|3m%E# 25 = ~ - = —| 100kN/mM%#8 2% 1.00( 10.67 ~ 12.08 107.11|3m%EE 25 =l ~ - - -
Zzh st 1.00( 048 ~ 8.27 100.00] #hist | 000 ~ 8.27| 2.11 10.66 ZznLst 1.00f 5.00 ~ 10.67 100.00| #hiist | 5.00 ~ 12.08] 2.11 10.66
6 100kN/M%Z#8B % % -l -~ = -|3mZEBRB| - ~ = - -| 100kN/mM%#B %% = -~ = -|3m%i#BZ % =~ = = =
Zzh st 1.00{0.00 ~ 5.02 62.62| ZhLis |0.00 ~ 502| 1.67 8.43 ZznLst 1.00f 500 ~ 539 62.62| Zhist | 500 ~ 539 1.67 8.43
100kN/M%Z#8B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zh st ~ Zzh st ~
100kN/mMZ#B % % ~ ImEHBRD ~ 100kN/mM%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/M%Z#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
zh st ~ Zzh st ~ Zh st ~ zh st ~
100kN/mM%#8 % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/MZ#B % % ~ ImEHBRD ~ 100kN/m%Z#B % % ~ ImEEZD ~
zh st ~ Zzh st ~ Zzh st ~ zh st ~
100kN/mM%#B % % ~ ImEHBRD ~ 100kN/m%Z#BZ % ~ ImEEZD ~
Zzh st ~ zh st ~ Zh st ~ zh st ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#8Z% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ ImEFEZD ~ 100kN/m%#82% ~ ImEFEZD ~
Zhst ~ ZhLlst ~ Zh s ~ ZhLs ~
100kN/m#E#BZ % ~ 3ImEFEZD ~ 100kN/m%#8Z 5% ~ ImEFEZD ~
ZThESH ~ ZThLst ~ ZhLS ~ ZThESE ~ |
=FE



